ask claude : is, id, == (E=f#E0DNEIMIAR1E6FHATLESYY)

PythonDZ T URERRLIZWT T,

AR, AT 217 MREC THIN AN,

1st_1 = [0, 1, 2, 3]

Ist 2 = 1st 1

#1

one = id(1lst_1) is id(1lst_2) # False
# 2

two = id(lst_1) == id(1lst_2) # True
# 3

three = 1st_1 is 1st_2 # True

print(one, two, three)

DOI—RICEVT, # 1 OPDFT, FANER, # 2 OPDSCIRELERIEFUE.
TELEZS, # 2 OPDF(E, BINEL # 3 DDA TLVDTEBLNEBVELUR,
ESTLLIN

COEZTIC, AT FBE LR (FHOFIH

Claude
PythonDAT S 17 MEEICOVWTHEERUIZ W\ ET IR, - REDHLTLEELLD,

FERMBEDE. # 3 D 1st_1 is 1st 2 E@UYIRAETY,
22U DKODNE BINREANHNET,

BITEF LR TOEELLD:

1. one = id(1lst_1) is id(1lst_2) - CNUIERDTY,
id() (FEEUEZRINDT, —DDEMEZ is JEMEFCLEEUTVWET,
is JBEFEIATZIIMOE—4 (BUXBUALECHDN) ZARZEDRDT,
EIER TOLEERIC(EEL TOWERA L. N False ERDD(E,
id() FEAEBOFUH USSR THIBRIENERZ AT 1ML TN 212 TY,

2. two = id(lst_1) == id(1lst_2) - CNIFHEBELFI N EIKENTT,
id() FAENRIEHEOE Mtz == TLEERULTVWET,

3. three = 1st_1 is 1st 2 - CNARHBEYIRSETY,
ZONEHNEUATS 1Y M SIRU TVBHEINZEIERARNTVET,



FREVIVUCOVWTEIA TORISERNNETT
1. is JEEFE == BETFDIEL

o is:ATTIIROE—M (AUAEMIBZSERLTVSH) ZHEER
o ==:ATTIIrOEOHE M2 R

2. FFCEBINEREL T, NEREEONFINREDAZ1-FTINATZ I M.
BB EOIHICECAT S MY BRI AEINZENHDET !

a = 256
b = 256
print(a is b) # True (ZJ<DEET)

c = 257
d = 257
print(c is d) # FERIC KD TldFalse

sl = "hello"
s2 = "hello"
print(sl is s2) # Z<MDFHTrue

s3 = "hello world" * 1000
s4 = "hello world" * 1000
print(s3 is s4) # Z<MDHHFalse

UIeho T MBOLEERICIE == Z2{E ATS1I DR MHDLEERICE is ZES0NREAITY,
HRIEOHITIE 1st_1 & 1st_2 NEICATS 1 MESBLTWH EIESRULIZLD T,
1st_1 is 1st_2 N'E@ERIEIRTY,

Me

Z5TI L. # 2 DPDAHRFEZLHIUCBODVOTIHY
BRAINS # 3 OPDHECTNELNZDTI 1.

Claude

ZTOEBDTT | # 3D 1st_1 is 1st 2 NROHEZEW TEY)RSAETT,
Python T3 E— O LB D5 EA S ON L BT,

# 2 (D id(lst 1) == id(1lst_2) (FFENHEBELEI N,
ROBBEFFVEUNELEL, J-RITTRICRDE T, #EBEREUEBKICRDFE I
FHVTIENTA—NDADE NS, B is EEFZ2HEIANEVNTULLD,



PythonT (3= ZEAMECTRIR T DENKENBRD T, HRIZDERAZHIRFIRFEIELWVTT,
ATS1H  NOEI— 4 %FERT BIe(C(F, BEFEIC is SEETFZBEIDNPythonSLVWEEHTY,

IENMIER :
== b', —M2ABIES

PythonM==I%, EAMICIFEDHFEMEZRANET
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#iE (int, float3F) :{EDHEME
XFF (str) :EDFHEE
Db -5 - HEFEDOIL VY3 ZERDEHRUHNEDH
BIZIE VZARTEH RAFINTVWTEZDERKT, FHEREFITVIULET)
HHAAAEEAR @ [F& A EDMEDFHEE

Jel2U. ARSI LISRATIE _eq AV Y REFA—N—S54 RUTLRVES
AT DOE—N (is&BUEE) ZFERET

DFD, HEMIICLUESHMAHFEINOIL Y33 THMEOEEEZRANDDT.
[EARNRENS TEIEFESEZARNBIEVIIREE TRIEEHDE R Ao

END



